
 +1-760-591-7383   fxl.com

Replacement Parts 

STANDARD | PATH LIGHT | SC

ITEM DESCRIPTION PART #

1 Cap 2500118400XX*

2 Top †

3 Reflector 250015830000

4 Screw, #8-32 x 7/ 16" 750103

5 O-Ring for Lens Top 250010280010

6 Lens 753100

7 O-Ring for Lens Bottom 250010280033

8 Reducer 250036730000

1-8 Top Assembly SC-TA-XX*§

3-8 Lens Assembly BD-EA-SC-LA§

9 Lamp, G4 See Lamp Chart 

10 Socket, 10' (3 m) 754601

11 O-Ring for Riser 250010280004

12 Riser Subassembly YY-RA-075-XX*

13 Super Slot Spike 753900

* XX = Finish code
* YY = Riser height in inches 
§ Not interchangeable with SC LED Top Assembly
† This part is not serviceable. Contact Customer Support or a local 
distributor to order a replacement product.

12

3

8

10

1

2

4

9

13

11

1

2

3

4

5

6

7

8

9

10

11

13

14

12

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 2500118400XX CAP, NUT, SC 1

2 250010280001 O-RING, NITRILE, BLACK, -18X1 1

3 2500121600XX TOP, COPPER, BD/EA/SC 1

4 250015830000 REFLECTOR, BD/EA/SC 1

5 250010280010 O-RING, NITRILE, BLACK, -220 1

6 753100 LENS, LED, BD 1

7 250010280033 O-RING, SILICONE, ORANGE, -024 1

8 250014080000 WASHER, RUBBER, BLACK, NO. 12 2

9 750103 Screw, PNH, 8-32 X 7/16 LG, MACH, Phillips, SST 1

10 25001026XXXX LAMP, XENON, JCX, 12V 1

11 2500367300XX REDUCER, BRASS, PETITE, 1.60 DIA 1

12 7546XX Overmolded Connector, Incandescent 1

13 250010280004 O-RING, SILICONE, ORANGE, -115 2

14 25001193YYXX RISER, COPPER, CUT, 3/4" DIA NOM 1

15 18 AWG Wire PAIGE, 18AWG 1

16 250011920000 INSERT, RISER, TOP, 3/4" DIA NOM 1

17 250011910000 INSERT, RISER, BOTTOM, 3/4" DIA NOM 1

18 753900 SUPER SLOT SPIKE 1

19 WM016-02-0103 WM016-02-0103 2

20 Incandescent Connector Insert MITRONIX #RS-SKI-G4 1

SIZE: B

SHEET  2  OF  2

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

E121110077XXXX

SFERICOCALDO (SC) ASSEMBLY

1:6

REV.DRAWING NO.

SCALE:

TITLE:

CONFIDENTIAL AND PROPRIETARY
THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

 B1 FORMAT REVISION 1 / 11 / 2018

DENOTES CRITICAL INSPECTION POINTS
DENOTES FUNCTIONALLY CRITICAL POINTS

5

7

6



FXLIT-027   SC   6/24 +1-760-591-7383   fxl.com +1-760-591-7383   fxl.com

LAMPS LAMPS | G4 LAMPS

LUMENS / VA CCT PART #

1.0 VA / 75 lm 2700K G4-E-1-W

1.3 VA / 120 lm 2700K G4-E-2-W

1.7 VA / 170 lm 2700K G4-E-3-W

1.0 VA / 80 lm 3000K G4-E-1-S

1.3 VA / 130 lm 3000K G4-E-2-S

1.7 VA / 190 lm 3000K G4-E-3-S

G4 LED Lamp Chart

1.1 VA      1.3 VA       1.7 VA      

fxl.com/G4


